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[Ahswe"s ta.this paper must be written on, e puper | provided separaleiy.]

Y"m;‘J will net he aléowvcl to write. dufing the first 15 pinuies:
us time'isito bé 'spent in reading the Question Paper. L
The time. gfven at the heax of')this paﬁerls‘?hc ftrg'e aﬂaﬂled Jor writing the
. - angwers,

Scction 1 is compitlsory,
Altempl any four questions from Section 2.
rKs forguestions orparts:of [ questions arg given in brackets [ ]

e ' .

The mtended ma
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snc:rmN 1 [40-m'u;ks]

i _ (Attempt all questmns from this. section.) |
Qﬁeﬁﬁbi;\,.l :

(a) B State L your obser‘vatton in.each.case; : ' )
B G Lead nitrate is heated in a dry test tubrt:ir . =
- (i} At the cathode during the électrolysis of fused Jcad bromxde
usitig graphite electrades, .
- {ii) Washing sodd crystals are exposed to the atmpspherc -
(iv] . A paper dipped in potassium pemmnganata soluition is hcld
- at the'mouth of thé test tube évolvmg sulphur dioxide gas,”

(") A few drops of Barium- ghloride solution is ‘added to 4 -
soTutmn of magnestum sulphate

b Completc: the followmg scnt,cnces by choosmg the correct dtvswer
. from theé choices which are given belaw: - - ’ g 5]
() From the following _____is an alkalmc earth metal a Lt !
- (A) -Potassium T :
. {B) Calcium o .
) tead e
. -{D}). OOppf:r

.‘. - 4

(ii)  The reaction w}uch gwes copper as a product is: Y
(A) - Passingdry. ammoma, gas over: heate:d copper oxxdc
(B) Heatingcopper oxile¢ .~ = :
" {€) Adding dilute hydrochloric aciél to copper oxndc,
(D) 'Passing oxygen over heated coppct oxxdc |
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i) Electrolysis of (:onccntratcd sodmm chloride solution using

Cinert clectrodes wili-form _.___.. atthe cathode.

{{). Hysroges gas

{8). sodium metal
. {6} - chlorine vapours
!BI oxypen gas |
{ivj The forfmation of: hmacmoroctlmne from ﬁtﬁane and clu atine
. . is. an gna,.mnf, Qf. )
{A) Addition: reaction
{B): - Substitution feaction.
* {€). Dehydration reaction .
{1). Decomposition reaction

(v) Stamless steel is an alloy nl’
. {A) Iron; carboh and mangasnese

. {B} Iron, chiromium, nickel and caibon. _
[C) Irtn, chromivim, manganeswana nickel

. {D) Iton, nickci and.carbor .

(¢}  Give balanced chemical equation for each: :
h ()  Dilute.nitric acid is made to rcacl with zinc oxide.
{i)  Copper tumings:are added to concentrated nitge acid,
{iii}  Acetic acid reacts Wwith -ethano] m the presence of
. concentrated sulphuric acid.” : A
{iv) Dilate hydrochlofic acid reacts with sodiviin, sulrjh;té,_

{v)  -Obtaining umph*um: aeid from mtrm acid, - (State the

condmons]

{d}. '\}ame: ihc gas in. each case:

) A mixture of soditiifi propanoatc and ‘soda: hme is: hcated

in a‘test tube,

| ({n) | Green vitriol is. gently hcatcd m a dry test tubc
- {1} - Sodiu '
(i) lum reacts with metharml at room temperature.

.-.(1;{): Patassium  chloride  § heated  with coricentrated

sulphuric acid at a. temperature below 2000¢C, -

e
>‘:3-;‘)
B

i
o R

5l

\ _)_ Reaction of alummmm thh bothr,xg cqnceniggmd caustic

atkali. solutmn

| AMRIEA ?‘“ﬂﬂ DEF’OT
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fe) ~ Commiercial ‘sedivm hydrox:dc welghing 30g has some 3"“;‘;“;
chloride in it. The mixture on dissolviig in water p
- subSequent tiedtimerit with excess silver nitrate solution fozmcm
A precipitate weighing 34.8g: what is the percentage of 50 t;‘}h o
... chloride in the commercial sarnple of sodium h&'dedE? ¢ . [ -
.. equation for tiie redtion i - - b=
- NaGl+ Agngy - AgCl *+ NalOs

. [R(‘*LNWC’: leEQulnr mass of NaC‘.l » 58 }\g(}l = 143' .
B Give the 3t:uclux- formula of the to isomers of butane. (2] -
{8} Give reasons for the followmg o - S 15}
) Inertgases do nit formions. |
-} Ethene is more reactive than ethane. - ,
. )  “The oxidising power of -elemeiits | increase on meving |
~ Trom left to right along 4 peried i the periodic table. -
M - An agueous solutioni of ‘sodiur t:hlonde conducts
elcctrmtty ' | :
. . Durng efectrolysw of molten Tead brcrmdc a graphxtc o
anodc is prercrred to other electmdcs :

“(h). A Baseous Hydroca:bon Ccofitain

s 82 76% of carbon. Fmd its
malecnlar  formula,

el rmula, given that ‘its vapour density is 29.
[c=12, H=1j | 121

- {i) - Acids dzssolve in water to form . posmvely chargcd mns Draw
thc structum of this ion and riame the ; ign. " {1}

() Atiswer thc failowmg

) Why is hy ydrogen: chlonde termed as a.--pfolar- covalent
© compound?

& g (i) Why is a cation dlways smallcr than' .the; ']?iarcnt z{t’g'm‘ '
- - . . drom which it is formed? '

(i) . State two. gbservations “made ’ durmg

the- catalyt;c -
.- .axldation of artimonia, ~ - ;
7 {iv) Which property of - sulphunc aCTd acconms:_ for its use as
- adehydrating agent: ‘ ;s _
(k) . Draw an clectron dot daagram to show the formauon qf each of
. the rqllomngcompqund 5 ‘ | e g
. ll) Carbon- tetrachlonde S S : Jl=h
g (U) ‘Magnesium chloride * . -, . . e 7 200T
| IC 6, Mg= 12, c1=171 - AMBICA :’ i, J

. . shontto 1. 1E ' e
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(m)

(©

..

(1)

A strip of copper i3 plated in four dxlTerent colouriess™ salt

solutions:

They arc KNO3., AgNOa, Zn(NOa)a and Cﬁ{NO;)a

Which onc of the solutions will finally turn blue? Justify your

o answerw xth a suitable reasont.

nitrate.

(ii)- What is the special feature of the. -apparatus used’ in (x)

»

Jusr.xfy your answer thh a suztablc, reason sis

T he I'ollomng questions-are related to the extraction of alurmmum
‘Name the solution used to react with bauxite as a first step
in obtaifiing pure aluminium oxide in the Baeyer’s process:

I

1

xS

If 6 litres of hydrogen and :4 lities of chlorine. arc mixed and
expladed and if wiiter is added to thé gascs formed, find the
valume of thie residual pas. .
. Sccﬂon 2 (40 makks)
(Attempt any four questions from this section)
Question 2
(a) 4 . _ |
-ti). Wiite the equation for the formation of ammoiiia gas by the =
L actxon of hot'water on magncexnm nitride. - .
(il How is ammonix gas .¢ollected in the laboratory? Just;fy :
- your answer with suitable reasons,
(i) Name the compound. normally uscd ds a drying agent for
ammeonia gas.-
{b)

(2]
() Givea ba}anccd equation with the riecessary conditions for |
~ the Iaboramry preparation of nitric-acid  from- potassmm

(5

~and also* ‘give a su1table reason for the addmon of this ‘.

‘soiution.

the following:

"W Along with cryolite and alumina, another substarice is

During. the extraction of alummlum by clcctrolysns answer

added to the electrolytic ‘mixture. Name" the substance

| and give one reason for the addition.
(B) Why is the electrolyte covered with powdered ‘.oke?

{Q) \!.{ny is it preferable to use a number of graphite

ielcctmdés as anode instead of a single electrode?

e e e
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Questims 3 _ o
ja)  Which property of hydrogen chlonde gas is demonstrated by the
_ fountain experiment?

(1]

S A Draw:a neat labelled dxuﬂram to show the: arra_nggmcnt wsed in
' the mhommi}r preparation aof hydrochloric. m:xd in wluch HClI
gas is dissolved in water. )

fi) Why i3 such an arrangement. ncces‘smy? Give one reasoni-

{c) State the property of concentrated squhunc acid exhxbltcd in cach N
of the: follOng reactions: _ B : [4]
() Reaction with.sulphur | T ' '
(i) ~ Reaets with blue vitriol
_ (}13). Reaction with carbon - .
i P?x_'x':dtzc'eé; a pas that ffume‘s in ait.‘ L

{d) _ Identify the process | or substance based on the dzscripbon given
bclow' : [3)
M - The process used to -;cparatc ore. fmm gangnc by prel'crcnna} |
‘wettmg
(i) .- The process of heating the concentrated ore to a high
temperatire in the presence of air. -
{iil} " The ost common ore of iron.

Question 4 ,
(2} The !’ollowmg questions. are with rcl’erencc to thc elcctrolysxs o{ ‘
“acldified water using platinum electrades, . .- - (2}

{i) Why is dilute sulphuri€¢ acid txrcferrcd mrer dilute: mtn{: a,.,d \

to atidify water? . : .
(n) Gwe theé équatior J for the dxscharge of mns at the anode;

(b) = Give two applications of electrolysm in whxch the: anode dxmmlshes
_'xnmass , L o ule e LM R

'(cl A sjlversmith wants- ta eicctraplata an .Mt:cle With sﬂver. 'I‘o achievc & |
. thisr .-
M  Name the clectrolytc to be choseri for thc abovc electroplanng g
() Why should a low cnrrent be. passed fot a. long permd of time?

(@) - Identify the cation in each case: .- T [2, |
' (f) NH-:O’H solution. ‘when " added . to soluuon (B) gnvcs wlnte o
~ .. .. précipitate: whi¢h does not. dissolve in gxcess,

-'_-:(li)j ~ NaOH splution when added to soluticn (Cl gives. Whit&
prccxpltate which is msolublc in excess,” . :

AWM ”'@“”',“,,h:m.ﬂ. =k 3?23',
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c following
process
xide not

y  am B =g B!
 for the manufacture of sulphuric aciq, I

-{g  Explain th phur -
r directly dissolved in water to obtain

puring the Gontact
why-ig sulphur trio
sulphuric.acid?

o etothe followirig tabley ——
(ff  Copy and compiele - —T Anode ,

j it 210 : ; Eléctrolyte 4
_[*'purid’catim ofcopper | . - - 4 . R

.Quésﬂ:}nsv _ - ’ o .

fa)  Consider the sectipnof the: periodic table given below: )]

Gronp | 1 | 2 | 13 | 44 | 15 | 16 | 17

number | 1A | A | HIA | IVA. | VA | VIA | VIIA | Zeroy
S}

_Perdod2 | Li D1 T [ E | Q | L.
Period 3| M | Mg I = - <) |
Perodd | R | J | I W [

iy this: table séme ,cl}'zx‘i;gnts are given mtheu' own _symbol
.- and:position.in thz periodie fdble thatds »1i; Mg and Si.
(2). Some other elements are shown with letters, You must see’
~ the position of the elemient in the petiadic table. .
Answer the following, With reférénce to the table:
(i) What is the valenicy of E.? o | e
(i) Which element from period 2 will have the least Tonization
- potential? . R - A
(i) ‘What is the electronic configuration of the slement in the
third period which gains one electron to change into an
. anion? .. B b Sk -
(v} - }:Vnte the formula of the ¢ompound forined between M and Z.
(v) Compare the size of the atoms of M and @. Which one 3
: ( .1.. 13--5:-3: Justify your answez with a svitable veason, I
~ Bond that will be formed. . - ) namg the type _-_O.f

(b} Idenitity 156 Stibstances P O acd B bd et o e ot < i oo
et oetances B, O and R based on the information given

, () The deliquiescent salt P, turns yeliow on dissolving in'.water‘

‘and gives a reddisk brown precipitate with sodinrn ot e
(i) "The white crystalline solid |
- Pungent sihellin

.. Solution, | .
{ui) 5 On performing the. flame test sal

B8l

e OIG 10 water. It liberatesa -
§ gas, when heated with sodium hydroxide -
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o the-alloy of lead and tir: that is used in electrical circvits: [1]
o pame e . L .
fe)

b . - P
Q‘W The prﬂpﬂfamm of the sa]t lead sulphate from lead carbonate isa

P step. process. Give two baldnced equauans fo show the above . ”
cgpversicn ' 2]
i HX is: a weak acid, what paruclcs will ‘be prcsent in {ts dilute

M_  gplution apart-from those of water? ) . _lh

‘ ( " (i} Caleulate the number of gram, atoms in 13.8 grams s of sodxum o

T (Na.=23§ . 14
+ ). 'A gos cylinder cain “Hold lkg of hydrogcn at foom temperatlre 3]

and pressyre: 2}
A} Find the number.of moles oi‘ lmdrogen preseznt e
. (B). What weight of carbon dioxide can the ¢ylinder h‘ﬂ?
under similar- tofditions of temperature and pressurc:
- (H=1, C=12, 0=16)
(@)  Give balanced chemical equatior with the nccc«sﬂr}' cenditions for R
each of the following: i - 3}
) Reaction of acetic acid with sodmm ‘hydroxide solution.
(11) 'Ccmplete combustion of ¢thane, . -
(i) Obiaining mcthyl alnuhol by the hydrdysxs of methyl
- -+ bromide. : :
fi\i') Formation of 1, 2 - Dxchlbro uthanc frormo cthylene

Qnestwn 7. . . - .

(a)  Choosing the substanccs frcm the hst gwen in the box belgw, wnte
 balanceéd equations for the ‘laboratory preparanon of the givent
salts; [itoy] .« . e 8]
~{Copper (HI) Carbonate .~ ~Thiogae =

Zinc pitrate -0 T Sedham ¢ g

=Sodi11mfch-l_oride' L o e s give be Joe t

Sodium carbonate . . ~ Copper . A
" | Dilute sulphuric acid R e . i
. salts: o _

) Sodiumsulphate .. ' e

()  Zinccarbonate - KMB!KAE% i,f ;10‘3‘; .

[ﬁl, Coppm..[n) Slﬂphﬂtﬁ - » Shop No. 1, Rana” !:5 _ E:;?a g

) tron () sulphate - N TEILG ]

).+ Perricchloride * "~~~ -\ gprenst s
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{b]

-, (i} What is tire massofC0a iu gxams?

\x‘-_‘

O
8

' :.,"(d) State Gay Lussacs Law,

Sampley of the gases O Mz, CO2 ahd CO unus: WIS Same

:of tériperature-and presspre: ~ [ ,:
(i} Whatis the volume acclipied by - - I

conditions of ternperature and pressure contain the sameé Numbe,
mn}nrnpo nf OXVgep (02,.

of molecules represented by X. The molecules

occupy V litres arid have a mass of 8g. Under the same: c:onchf,gns

3X molscules of CO?

LG 17 ﬁ;’zs’x ‘

-ty W .,

(NH@)z C~207 - Cr203+4}120 + Ni
Calculate ;

(1} The ‘volume of m’tragen evolved at STP when 63gm £
. ammonjum dichromate: is heated, ' e

. (i) - The ass.of chromium (1) oxide formed = the sap
e»:\ed:at.the_ same Hma-
(W13, H=1,Grm52,0 = 16) e =5 Q;‘mﬁ-‘

Ly
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